Assignment - 7
Problem-1 For what values of
$$x$$
, the imaterix

$$A = \begin{bmatrix} 3-x & 2 & 2 \\ -2 & 4-x & 1 \\ -2 & -4 & -1-x \end{bmatrix}$$
is singular?
Add :- For imaterix to be isingular, $|A| = 0$

$$\begin{bmatrix} 3-x & 2 & 2 \\ -2 & -4 & -1-x \end{bmatrix} = 0$$

$$\begin{bmatrix} 7-x & 4-x & 1 \\ -2 & -4 & -1-x \end{bmatrix} = 0$$

$$\begin{bmatrix} 7-x & 4-x & 1 \\ -7-x & -4 & -1-x \end{bmatrix}$$

$$\begin{bmatrix} 7-x & 2 & 2 \\ -2 & -4 & -1-x \end{bmatrix}$$
is concerned by C_1 , we get:

$$\begin{bmatrix} 7-x & 2 & 2 \\ 0 & 4-x & -1 \\ -7-x & -4 & -1-x \end{bmatrix} = 0$$

$$\begin{bmatrix} R_2 \rightarrow R_2 - R_1 \\ R_3 \rightarrow R_3 + R_1 \end{bmatrix}$$
on expanding by C_1 , we get:

$$\begin{bmatrix} 7-x \end{bmatrix} \begin{bmatrix} 3-x & -1 \\ -2 & 1-x \end{bmatrix} = 0$$

$$\begin{bmatrix} 7-x \end{bmatrix} \begin{bmatrix} 3-x & -1 \\ -2 & 1-x \end{bmatrix} = 0$$

$$\begin{bmatrix} 7-x \end{bmatrix} \begin{bmatrix} 3-x & -1 \\ -2 & 1-x \end{bmatrix} = 0$$

$$\begin{bmatrix} 7-x \end{bmatrix} \begin{bmatrix} 3-x - x + x^2 - x^2 \\ -3 \end{bmatrix} = 0$$

$$\begin{bmatrix} 7-x \end{bmatrix} \begin{bmatrix} 3-x - x + x^2 - x^2 \\ -3 \end{bmatrix} = 0$$

$$\begin{bmatrix} 7-x \end{bmatrix} \begin{bmatrix} 3-x - 7 \\ -2 \end{bmatrix} = 0$$

Assignment #7

Labet Kumar Shukla & Rocherl Yadav Ozroup - 07-6

Qu

:

$$\frac{ASSTGNMENT-07}{Gr-07}$$
Prob.3. $\begin{bmatrix} 2 & 1 & -1 \\ 4 & -5 & 6 \\ -3 & 7 & 3 \end{bmatrix} \begin{bmatrix} 3 & 1 \\ -6 & 4 \\ -2 & 5 \end{bmatrix} \begin{bmatrix} 5 & 3 \\ -2 & 1 \end{bmatrix}$
first consider underlined part
$$\begin{bmatrix} 15 - 2 & 9 + 1 \\ -3 & -8 & -18 + 4 \\ -10 & -10 & -6 + 5 \end{bmatrix}$$

$$= \begin{bmatrix} 13 & 10 \\ -28 & -14 \\ -20 & -1 \end{bmatrix}$$
Now multiply $\begin{bmatrix} 2 & 1 & -1 \\ 4 & -5 & 6 \\ -3 & 7 & 3 \end{bmatrix}$ and $\begin{bmatrix} 13 & 10 \\ -38 & -14 \\ -20 & -1 \end{bmatrix}$

$$\begin{bmatrix} 26 - 38 + 20 & 7 \\ 122 & 104 \\ -365 & -131 \end{bmatrix}$$
Ans = $\begin{bmatrix} 8 & 7 \\ 122 & 104 \\ -365 & -131 \end{bmatrix}$

$$\begin{aligned} & \text{Assignment - 7} \\ & \text{Gree - L} \\ & \text{Acustic Nett, Vites Churd} \\ \hline & \text{A} = \begin{pmatrix} i & -2 & 3 \\ 2 & 3 & -i \\ -3 & i & 2 \end{pmatrix} \quad & \text{A I is Network} \\ & \text{matrix } d_{i} \quad \text{ander } 3, \text{ walket } A^{2} \cdot 3A + 9I \\ & \text{matrix } d_{i} \quad \text{ander } 3, \text{ walket } A^{2} \cdot 3A + 9I \\ & \text{A} = \begin{pmatrix} i & -2 & 3 \\ 2 & 3 & -i \\ -3 & i & 2 \end{pmatrix} \\ & A^{2} = AA = \begin{pmatrix} i & -2 & 3 \\ 2 & 3 & -i \\ -3 & i & 2 \end{pmatrix} \\ & \begin{pmatrix} i & -2 & 3 \\ 2 & 3 & -i \\ -3 & i & 2 \end{pmatrix} \\ & \frac{1}{-3} \quad i \quad 2 \end{pmatrix} \\ & = \begin{pmatrix} i-4-9 & -2-6+3 & 3+2+6 \\ 2+6+3 & -4+9-i & 6-3-2 \\ -3+2-6 & 6+3+2 & -2-i+6 \end{pmatrix} \\ & = \begin{pmatrix} -i2 & -5 & 11 \\ 11 & 4 & 1 \\ -3I & 11 & -6 \end{pmatrix} \\ & \frac{1}{-3} \quad A = 3 \begin{pmatrix} i & -2 & 3 \\ 2 & 3 & -i \\ -3 & i & 2 \end{pmatrix} = \begin{pmatrix} 3 & -6 & 9 \\ 6 & 9 & -3 \\ -3 & 3 & 6 \end{pmatrix} \\ & \frac{9I}{-3} \quad A = 3 \begin{pmatrix} i & -2 & 3 \\ 2 & 3 & -i \\ -3 & i & 2 \end{pmatrix} = \begin{pmatrix} 3 & -6 & 9 \\ 6 & 9 & -3 \\ -3 & 3 & 6 \end{pmatrix} \\ & \frac{9I}{-3} \quad A = 3 \begin{pmatrix} -i2 & -5 & 11 \\ 11 & 4 & 1 \\ -3I & 1 & -6 \end{pmatrix} \\ & \frac{9I}{-3} \quad A = 3 \begin{pmatrix} -i2 & -5 & 11 \\ 11 & 4 & 1 \\ -3I & 1 & -6 \end{pmatrix} \\ & \frac{9I}{-3} \quad A = 3 \begin{pmatrix} -i2 & -5 & 11 \\ 11 & 4 & 11 \\ -3I & -6 \end{pmatrix} = \begin{pmatrix} 3 & -6 & 9 \\ 0 & 9 & 0 \\ 0 & 0 & 3 \end{pmatrix} \\ & A^{2} - 3A + 9I = \begin{pmatrix} -i2 & -5 & 11 \\ 11 & 4 & 11 \\ -I2 - 3I & -6 \end{pmatrix} \\ & \frac{12 - 3I + 9I}{-1} \quad -6I + 0 \\ & \frac{12 - 3I + 9I}{-1} \quad -6I + 0 \end{pmatrix} = \begin{pmatrix} -i2 - 3I + 2I \\ -2I - 3I + 2I \\ -2I - 3I + 2I \end{pmatrix} = \begin{pmatrix} -i2 - 5I \\ 0 & 0 & 3I \\ -2I - 3I + 2I \end{pmatrix} \\ & = \begin{pmatrix} -i2 - 5I \\ -2I - 5I \end{pmatrix} = \begin{pmatrix} -i2 - 5I \\ 0 & 0 & 3I \\ -2I - 5I \\ -2I$$

••••

•

 $\begin{bmatrix}
 -6 & 1 & 2 \\
 5 & 4 & 14 \\
 2 & 8 & -3
 \end{bmatrix}$

ASSIGNMENT: 7

Group: 2 Chandona Jinia Sikdar

Q5. Factionize the matrix :

$$A = \begin{bmatrix} 5 & -2 & 1 \\ 7 & 1 & -5 \\ 3 & 7 & 4 \end{bmatrix}$$

into forem Ly, where i've lower triangular and is upper treangules matrix.

$$Sd^{n}: Let, \begin{bmatrix} f & -2 & i \\ 7 & i & -5 \\ 3 & 7 & 4 \end{bmatrix} = \begin{pmatrix} l_{11} & 0 & 0 \\ l_{21} & l_{32} & 0 \\ l_{31} & l_{32} & l_{33} \end{pmatrix} \begin{pmatrix} u_{11} & u_{12} & u_{13} \\ 0 & u_{22} & u_{23} \\ 0 & 0 & u_{33} \end{pmatrix}$$
$$= \begin{pmatrix} l_{11}u_{11} & l_{11} & l_{12} & l_{11}u_{13} \\ l_{21}u_{11} & l_{21}u_{22} + l_{12}u_{22} & l_{21}u_{13} + l_{32}u_{23} \\ l_{31}u_{11} & l_{31}u_{12} + l_{32}u_{22} & l_{31}u_{13} + l_{32}u_{33} \\ l_{31}u_{11} & l_{31}u_{12} + l_{32}u_{22} & l_{31}u_{13} + l_{32}u_{33} \\ l_{31}u_{11} & = 7 & l_{21}u_{42} + l_{32}u_{22} = 1 & l_{21}u_{13} + l_{32}u_{23} = -5 \\ l_{31}u_{11} & = 3 & l_{31}u_{12} + l_{32}u_{22} = 7 & l_{31}u_{13} + l_{32}u_{23} = 4 \\ + l_{32}u_{33} & u_{33} \end{pmatrix}$$

Since no. of variables are more than no. of eg's, hence we need some reestructions to get the answers.

Let,
$$l_{11} = l_{22} = l_{23} = l_{1}$$

 $\therefore \qquad U_{11} = 5$, $U_{12} = -2$, $U_{13} = 1$,
 $l_{21} = \frac{7}{5}$, and
 $l_{31} = \frac{3}{5}$
Now, $l_{21} U_{12} + l_{22} U_{22} = 1$
 $\therefore \frac{7}{5}, (-2) + 1, U_{22} = 1$, $\frac{-14}{5} + U_{22} = 1$, $\frac{-14}{5}$

Also,
$$k_{21} U_{13} + k_{22} U_{23} = -5$$

 $\therefore \frac{7}{5} \cdot U_{13} + 1 \cdot U_{23} = -5 \longrightarrow 0$.
 $\therefore \frac{7}{5} \cdot 1 + U_{23} = -5$
 $\therefore \frac{7}{5} \cdot 1 + U_{23} = -5 - \frac{7}{5} = -\frac{-32}{5}$

Again, Isicija

-. 132 = 41/19.

Also, we have: (31 U13 + 22 U23 + 23 U33 = 4

$$\frac{3}{5} \cdot \frac{3}{14} + \frac{41}{19} \cdot \frac{-32}{5} + 1 \cdot 4_{33} = 4$$

$$\frac{3}{5} - \frac{1312}{95} + 4_{33} = 4$$

$$\frac{57 - 1312}{95} + 4_{33} = 4$$

Bross check: 441 = $\begin{pmatrix} 1 & 0 & 0 \\ 71c & 1 & 0 \\ 31c & 41/16 & 1 \end{pmatrix} \begin{pmatrix} 5 & -2 & 1 \\ 0 & 19/15 & -32/15 \\ 0 & 0 & 327/19 \end{pmatrix} = \begin{pmatrix} 5 & -2 & 1 \\ 7 & 1 & -5 \end{pmatrix} A$

$$\begin{array}{c} (\operatorname{hicoup-H} & \operatorname{Assignment} - \frac{7}{7} \\ 6:Q + \operatorname{Exprises} \begin{bmatrix} 0 & 5 & -3 \\ 1 & 1 & 1 \\ 4 & 5 & q \end{bmatrix} \text{ as the sum of a symmetric } \\ & a skew-symmetric moduly. \\ \text{Ans.- We know any sequere matrix A can be expressed as } \\ & \text{the sum of a symmetric distribution in the sequent is } \\ & \text{the sum of a symmetric distribution } \\ & \text{the A = } \frac{1}{2}(A + A^{T}) + \frac{1}{2}(A - A^{T}) = B + C(S^{O}) \\ & \text{where } \frac{1}{2}(A + A^{T}) = B = symmetric matrix \\ & \frac{1}{2}(A - A^{T}) = C = skew symmetric matrix \\ & \frac{1}{2}(A - A^{T}) = C = skew symmetric matrix \\ & \frac{1}{2}(A - A^{T}) = C = skew symmetric matrix \\ & Assure A = \begin{bmatrix} 0 & 5 & -3 \\ 1 & 1 & 1 \\ 4 & 5 & q \end{bmatrix} \\ & \text{ww } B = \frac{1}{2}(A + A^{T}) = \frac{1}{2}\left[\begin{bmatrix} 0 & 5 & -3 \\ 1 & 5 & 1 & q \end{bmatrix} \right] \\ & = \frac{1}{2}\left[\begin{bmatrix} 0 & G & 1 \\ G & 2 & G \\ 1 & G & 18 \end{bmatrix} = \begin{bmatrix} 0 & 3 & \frac{1}{2} \\ 3 & 1 & 3 \\ \frac{1}{2} & 3 & q \end{bmatrix} \right] \\ & \text{R} \ C = \frac{1}{2}(A - A^{T}) = \frac{1}{2}\left\{\begin{bmatrix} 0 & 5 & -3 \\ 1 & 5 & 1 \end{bmatrix} - \begin{bmatrix} 0 & 1 & 4^{T} \\ 5 & 1 & 5 \\ \frac{1}{2} & 5 & q \end{bmatrix} \right] \\ & = \frac{1}{2}\left[\begin{bmatrix} 0 & Y & -7 \\ -Y & 0 & -Y \\ -Y & 0 \end{bmatrix} = \begin{bmatrix} 0 & 2 & -\frac{7}{2} \\ -\frac{7}{2} & 2 & 0 \end{bmatrix} \right] \\ & \text{Heree}\left[\begin{bmatrix} 0 & 5 & -3 \\ 1 & 1 & 1 \\ Y & 5 & q \end{bmatrix} = \begin{bmatrix} 0 & 3 & \frac{1}{2} \\ 3 & 1 & 3 \\ \frac{1}{2} & 3 & q \end{bmatrix} + \begin{bmatrix} 0 & 2 & -\frac{7}{2} \\ -2 & 0 & -2 \\ -\frac{7}{2} & 2 & 0 \end{bmatrix} \right] \\ & \text{Am} \ \end{array}$$



 $\Rightarrow ady A = \begin{bmatrix} 0 & 11 & 0 \\ -2 & -1 & -4 \\ 8 & -7 & 6 \end{bmatrix}$

$$A^{-1} = \frac{1}{|A|} adj A$$

$$\mathbf{A}^{-1} = \frac{1}{22} \left(\begin{array}{c} 0 & 0 \\ 2 & -1 & 4 \\ 8 & -7 & 6 \end{array} \right)$$

ļ

Assignment - 7 Venkotesh chinni G9-11 Duxgaprasad कि भौतिक अनुसंधान प्रयोगशाला, अहमदाबाद B show that $\begin{bmatrix} \cos \theta & -\sin \theta \\ \sin \theta & \cos \theta \end{bmatrix} = \begin{bmatrix} 1 & -\tan \theta \\ 1 & -\tan \theta \\ \tan \theta \\ \tan \theta \end{bmatrix} \begin{bmatrix} 1 & \tan \theta \\ -\tan \theta \\ 1 \end{bmatrix} \begin{bmatrix} 1 & \tan \theta \\ -\tan \theta \\ 1 \end{bmatrix} \begin{bmatrix} 1 & \tan \theta \\ -\tan \theta \\ 1 \end{bmatrix} \begin{bmatrix} 1 & -\tan \theta \\ -\tan \theta \\ 1 \end{bmatrix} \begin{bmatrix} 1 & \tan \theta \\ -\tan \theta \\ 1 \end{bmatrix} \begin{bmatrix} 1 & \tan \theta \\ -\tan \theta \\ 1 \end{bmatrix} \begin{bmatrix} 1 & \tan \theta \\ -\tan \theta \\ 1 \end{bmatrix} \begin{bmatrix} 1 & \tan \theta \\ -\tan \theta \\ 1 \end{bmatrix} \begin{bmatrix} 1 & \tan \theta \\ -\tan \theta \\ 1 \end{bmatrix} \begin{bmatrix} 1 & \tan \theta \\ -\tan \theta \\ 1 \end{bmatrix} \begin{bmatrix} 1 & \tan \theta \\ -\tan \theta \\ 1 \end{bmatrix} \begin{bmatrix} 1 & \tan \theta \\ -\tan \theta \\ 1 \end{bmatrix} \begin{bmatrix} 1 & \tan \theta \\ -\tan \theta \\ 1 \end{bmatrix} \begin{bmatrix} 1 & \tan \theta \\ -\tan \theta \\ 1 \end{bmatrix} \begin{bmatrix} 1 & \tan \theta \\ -\tan \theta \\ 1 \end{bmatrix} \begin{bmatrix} 1 & \tan \theta \\ -\tan \theta \\ 1 \end{bmatrix} \begin{bmatrix} 1 & \tan \theta \\ -\tan \theta \\ 1 \end{bmatrix} \begin{bmatrix} 1 & \tan \theta \\ -\tan \theta \\ 1 \end{bmatrix} \begin{bmatrix} 1 & \tan \theta \\ -\tan \theta \\ 1 \end{bmatrix} \begin{bmatrix} 1 & \tan \theta \\ -\tan \theta \\ 1 \end{bmatrix} \begin{bmatrix} 1 & \tan \theta \\ -\tan \theta \\ 1 \end{bmatrix} \begin{bmatrix} 1 & \tan \theta \\ -\tan \theta \\ 1 \end{bmatrix} \begin{bmatrix} 1 & \tan \theta \\ -\tan \theta \\ 1 \end{bmatrix} \begin{bmatrix} 1 & \tan \theta \\ -\tan \theta \\ 1 \end{bmatrix} \begin{bmatrix} 1 & \tan \theta \\ -\tan \theta \\ 1 \end{bmatrix} \begin{bmatrix} 1 & \tan \theta \\ -\tan \theta \\ 1 \end{bmatrix} \begin{bmatrix} 1 & \tan \theta \\ -\tan \theta \\ 1 \end{bmatrix} \begin{bmatrix} 1 & \tan \theta \\ -\tan \theta \\ 1 \end{bmatrix} \begin{bmatrix} 1 & \tan \theta \\ -\tan \theta \\ 1 \end{bmatrix} \begin{bmatrix} 1 & \tan \theta \\ -\tan \theta \\ 1 \end{bmatrix} \begin{bmatrix} 1 & \tan \theta \\ -\tan \theta \\ 1 \end{bmatrix} \begin{bmatrix} 1 & \tan \theta \\ -\tan \theta \\ 1 \end{bmatrix} \begin{bmatrix} 1 & \tan \theta \\ -\tan \theta \\ 1 \end{bmatrix} \begin{bmatrix} 1 & \tan \theta \\ -\tan \theta \\ 1 \end{bmatrix} \begin{bmatrix} 1 & \tan \theta \\ -\tan \theta \\ 1 \end{bmatrix} \begin{bmatrix} 1 & \tan \theta \\ -\tan \theta \\ 1 \end{bmatrix} \begin{bmatrix} 1 & \tan \theta \\ -\tan \theta \\ 1 \end{bmatrix} \begin{bmatrix} 1 & \tan \theta \\ -\tan \theta \\ 1 \end{bmatrix} \begin{bmatrix} 1 & \tan \theta \\ -\tan \theta \\ 1 \end{bmatrix} \begin{bmatrix} 1 & \tan \theta \\ -\tan \theta \\ 1 \end{bmatrix} \begin{bmatrix} 1 & \tan \theta \\ -\tan \theta \\ 1 \end{bmatrix} \begin{bmatrix} 1 & \tan \theta \\ -\tan \theta \\ 1 \end{bmatrix} \begin{bmatrix} 1 & \tan \theta \\ -\tan \theta \\ 1 \end{bmatrix} \begin{bmatrix} 1 & \tan \theta \\ -\tan \theta \\ 1 \end{bmatrix} \begin{bmatrix} 1 & \tan \theta \\ -\tan \theta \\ 1 \end{bmatrix} \begin{bmatrix} 1 & \tan \theta \\ -\tan \theta \\ 1 \end{bmatrix} \begin{bmatrix} 1 & \tan \theta \\ -\tan \theta \\ 1 \end{bmatrix} \begin{bmatrix} 1 & \tan \theta \\ -\tan \theta \\ 1 \end{bmatrix} \begin{bmatrix} 1 & \tan \theta \\ -\tan \theta \\ 1 \end{bmatrix} \begin{bmatrix} 1 & \tan \theta \\ -\tan \theta \\ 1 \end{bmatrix} \begin{bmatrix} 1 & \tan \theta \\ -\tan \theta \\ 1 \end{bmatrix} \begin{bmatrix} 1 & \tan \theta \\ -\tan \theta \\ 1 \end{bmatrix} \begin{bmatrix} 1 & \tan \theta \\ -\tan \theta \\ 1 \end{bmatrix} \begin{bmatrix} 1 & \tan \theta \\ -\tan \theta \\ 1 \end{bmatrix} \begin{bmatrix} 1 & \tan \theta \\ -\tan \theta \\ 1 \end{bmatrix} \begin{bmatrix} 1 & \tan \theta \\ -\tan \theta \\ 1 \end{bmatrix} \begin{bmatrix} 1 & \tan \theta \\ -\tan \theta \\ 1 \end{bmatrix} \begin{bmatrix} 1 & \tan \theta \\ -\tan \theta \\ 1 \end{bmatrix} \begin{bmatrix} 1 & \tan \theta \\ -\tan \theta \\ 1 \end{bmatrix} \begin{bmatrix} 1 & \tan \theta \\ -\tan \theta \\ 1 \end{bmatrix} \begin{bmatrix} 1 & \tan \theta \\ -\tan \theta \\ 1 \end{bmatrix} \begin{bmatrix} 1 & \tan \theta \\ -\tan \theta \\ 1 \end{bmatrix} \begin{bmatrix} 1 & \tan \theta \\ -\tan \theta \\ 1 \end{bmatrix} \begin{bmatrix} 1 & \tan \theta \\ -\tan \theta \\ 1 \end{bmatrix} \begin{bmatrix} 1 & \tan \theta \\ -\tan \theta \\ 1 \end{bmatrix} \begin{bmatrix} 1 & \tan \theta \\ -\tan \theta \\ 1 \end{bmatrix} \begin{bmatrix} 1 & \tan \theta \\ -\tan \theta \\ 1 \end{bmatrix} \begin{bmatrix} 1 & \tan \theta \\ -\tan \theta \\ 1 \end{bmatrix} \begin{bmatrix} 1 & \tan \theta \\ -\tan \theta \\ 1 \end{bmatrix} \begin{bmatrix} 1 & \tan \theta \\ -\tan \theta \\ 1 \end{bmatrix} \begin{bmatrix} 1 & \tan \theta \\ -\tan \theta \\ 1 \end{bmatrix} \begin{bmatrix} 1 & \tan \theta \\ 1$ SO = suppose $A = \begin{bmatrix} a & b \\ c & d \end{bmatrix}$ they $A^{\dagger} = \frac{1}{ad-bc} \begin{bmatrix} d & -b \\ -c & a \end{bmatrix}$ $\operatorname{Folce}\left(\begin{array}{ccc} 1 & \tan \Theta_{2} \\ -\tan \Theta_{2} & 1 \end{array}\right) = \frac{1}{\operatorname{Sec}\Theta_{2}} \left(\begin{array}{ccc} 1 & -\tan \Theta_{1} \\ \tan \Theta_{2} & 1 \end{array}\right) - \operatorname{p}(1)$ $= \begin{bmatrix} 1 & -tomol \\ 1 & -tomol \\ tomol \\ 1 \end{bmatrix} \begin{bmatrix} 1 & tomol \\ -tacoh \\ 1 \end{bmatrix}^{-1}$ =) $\begin{bmatrix} 1 & -ton \Theta_1 \\ ton \Theta_1 \end{bmatrix} \begin{bmatrix} 1 & -ton \Theta_1 \\ ton \Theta_1 \end{bmatrix} \begin{bmatrix} 1 & -ton \Theta_1 \\ ton \Theta_1 \end{bmatrix} \begin{bmatrix} 1 & -ton \Theta_1 \\ ton \Theta_1 \end{bmatrix} \begin{bmatrix} 1 & 0 \\ ton \Theta_1 \end{bmatrix} \begin{bmatrix} 1 & 0 \\ ton \Theta_1 \end{bmatrix} \begin{bmatrix} 1 & 0 \\ ton \Theta_1 \end{bmatrix}$ $=) \quad (oSO1_{2} \left[\frac{1 - tonO1_{2}}{taO1_{2}} \right] \left[\frac{1 - taO1_{2}}{taO1_{2}} \right] \left[\frac{1 - taO1_{2}}{taO1_{2}} \right]$ $(0501_2 \begin{bmatrix} 1-ton'01_2 & -2ton'01_2 \\ 2ton'01_2 & 1-ton'01_2 \end{bmatrix}$ Cosol2 - Sinol2 - 2 Sind L Casol [., Cos20= Coso-sho] singo=2 sino sino Cosol_-Sind_ 2 sho/2 cos 0/2 $\begin{array}{c} \cos \circ & -\sin \circ \\ \sin \circ & \sin \circ \end{array} = 1.14.5 \\ \sin \circ & \sin \circ & \sin \circ \end{array}$ Hence proved

ţ

भौतिक अनुसंधान प्रयोगशाला, अहमदाबाद Physical Research Laboratory, Ahmedabad

5

$$|A| = -9.$$

Co

$$\begin{array}{c} -\frac{1}{4} \cot n - \frac{1}{4} + \frac{1}{2} \\ q_{11} &= (-1)^{1+1} \begin{vmatrix} 0 & 2 \\ -1 & 2 \end{vmatrix} = -1 \\ q_{12} &= (-1)^{1+2} \begin{vmatrix} 3 & 2 \\ -1 & 3 \end{vmatrix} = -1 \\ q_{13} &= (-1)^{1+3} \begin{vmatrix} 3 & 0 \\ -1 & 3 \end{vmatrix} = -5 \\ q_{13} &= (-1)^{1+3} \begin{vmatrix} 3 & 0 \\ -1 & 3 \end{vmatrix} = -5 \\ q_{14} &= -5 \\ q_{15} &= -5 \\ q_{16} &= -5 \\ q$$

$$a_{21} = (-1)^{2} | 5 0 |$$

$$a_{22} = (-1)^{2} | 1 - 1 | = 4$$

$$a_{4} 0 | = 4$$

$$a_{23} = (-1)^{2+3} \begin{vmatrix} 1 & 2 \end{vmatrix} = 3$$

 $4 \quad 5 \end{vmatrix}$

$$\begin{array}{c} a_{13} = (-1)^{1+3} \begin{vmatrix} 2 & -1 \\ 0 & 2 \end{vmatrix} = 4 \\ a_{23} = (-1)^{2+3} \begin{vmatrix} 1 & -1 \\ -1 \end{vmatrix} = -5 \\ a_{33} = (-1)^{2+3} \begin{vmatrix} 1 & -1 \\ 3 & -1 \end{vmatrix} = -5 \\ a_{33} = (-1)^{2+3} \begin{vmatrix} 1 & 2 \\ 3 & -1 \end{vmatrix} = -6 \\ a_{33} = (-1)^{2+3} \begin{vmatrix} 1 & 2 \\ 3 & -1 \end{vmatrix} = -6$$

 $co-tactor matrin of A = \begin{pmatrix} -10 & 8 & 15 \\ -5 & 4 & 3 \\ 4 & -5 & -6 \end{pmatrix}$

So, $A^{-1} = -\frac{1}{9} \begin{pmatrix} -10 & -5 & 4 \\ 8 & 4 & -5 \\ 15 & 3 & -6 \end{pmatrix}$

$$\left[\begin{array}{c} AB \\ \end{array} \right]^{=} \left(\begin{array}{c} 5 & 1 & -3 \\ 3 & 2 & 6 \\ 14 & 5 & 0 \end{array} \right) \quad \begin{array}{c} AB_{11} = (1) \left(0 - 50 \right)^{-} & 50 \\ BB_{12} = (1) \left(0 - 84 \right)^{-} + 84 \\ AB_{13} = (1) \left(15 - 28 \right)^{-} - 13 \end{array}$$

 $\left[AB\right]^{m} = 5(0-30) - 1(0-84) + (-3)(15-28)$ = - 150 + 84 + 39

$$(AB)^{-1} = -1 | -30 -15 | 12 | = 27 | +84 | 42 -39 | = -13 -11 | 7 |$$

=-27

$$B^{-1}A^{-1} = \begin{bmatrix} 3 & 0 & 0 \\ -6 & 3 & 0 \\ 27 \begin{bmatrix} -6 & 3 & 0 \\ 2 & -1 & 1 \\ 2 & -1 & 1 \\ 15 & 3 & -6$$

.

 $\vec{D} = \begin{pmatrix} l_{d_1} & 0 & 0 & \dots & 0 \\ 0 & l_{d_2} & 0 & \dots & 0 \\ 0 & 0 & \dots & \dots & 0 \\ 0 & 0 & \dots & \dots & \dots & \dots \end{pmatrix}$ $\therefore \mathcal{D}^{-1} = \operatorname{diag} \left[d_1, d_2, \ldots, d_n \right]$ (proceed)

Assignment 7

Group 5: Apurv & Sanjay

Question

11. If A and B are two $n \times n$ non- singular matrix, show that adj(AB) = adj(B)adj(A)Solution

Given: A and B are non singular $\Rightarrow A^{-1}$ and B^{-1} exists, and is given by

$$A^{-1} = \frac{adj(A)}{|A|}$$
(0.0.1)

Where |A| is the determinant of A, we note that it is a scalar, so taking it to the left side.

$$|A|A^{-1} = adj(A) (0.0.2)$$

Similarly $|B|B^{-1} = adj(B)$, going a step further,

$$adj(AB) = |AB|(AB)^{-1}$$

= $|A||B| B^{-1}A^{-1}$ $\therefore |AB| = |A||B|$ and $(AB)^{-1} = B^{-1}A^{-1}$
= $|B|B^{-1} |A|A^{-1}$ \therefore Determinant is a scalar, order can be interchanged
= $adj(B) adj(A)$ \therefore From Eq.0.0.2 Q.E.D